il
W
St
%
T

1. THE4
THE4 HE - SASERTEEFE ST (T T
T4 B IR I B O TR R
2. THEHNE
1)  HEI4 B EE BT LR R
2) £ I & SifEoRER T
3) T i 332 H [ H AFn 74 3H 5H
= SFn 84 1H30H
4) TEyE

-1- E ta2@d Ui




il
W
>
%
T

TH4 | AFd - SASERFER ST (T TH

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
HhRE L =X 1 79, 589, 337
THHUET 2 1 79, 589, 337
FislET 2 1 25,718,496 | HWEIIT 4.2 t

PL SM490YB 25<t=<30 ;

BYEI T 32.8 t
PL SM490YB 6<t=25 ;

BYEI T 41.4 t
PL SM490YA 6<t=25 ;

BYEI T 0. 08 t
PL SM490B 38<t=40 ;

BYEI T 0.07 t
PL SM490B 35<t=38 ;

BYEI T 0.56 t
PL SM490B 30<t=35 ;

BYEI T 0.03 t
PL SM400B 35< t =40 ;

BYEI T 0. 02 t
PL SM400A 30<t=35 ;

BYEI T 0.2 t
PL SM400A 25<t=30 ;

BYEI T 17. 4 t
PL SM400A 6<t=<25 ;

BYEI T 0.99 t
PL SS400 6<t=25 ;

BYEI T 0.01 t
PL SS400 t=6 ;

BYEI T 0. 02 t
PL SS400 t=4.5 ;

BYEI T 0. 02 t
PL SS400 t=3.2 ;

BYEI T 0. 008 t
PL SS400 t=2.3 :

-1- E ta2@d Ui




Vol =
FER N E
TH4 | HM - SMEERFEGET LT (Fof) LF
THX 4y - LfE - flRl B {7 ¥ & & # A B

BYEI T 0.92 t
L SS400 9X 75X 75 ;

BYEI T 2.3 t
CT SS400 95X 152X 8X 8 ;

BYEI T 3.3 t
CT SS400 144X 204X 12X 10 ;

BYEI T 0. 02 t
RB SS400 ¢ 16 ;

AND T 120 bl
TC S10T M22X 100 ;

AND T 192 bl
TC S10T M22X 95 ;

Kbty b 288 #H
TC S10T M22X90 ;

AND T 144 bl
TC S10T M22X 85 ;

AND T 128 bl
TC S10T M22X 80 ;

Kbty b 368 #H
TC S10T M22X 75 ;

AND T 1,888 bl
TC S10T M22X 65 ;

Kbty b 420 #H
TC S10T M22X60 ;

Kbty b 804 #H
TC S10T M22X 55 ;

Y PN AN 3,918 PN
¢ 19X 150 ;

R w4 B 1 X
SS400 4.5X50 ;

T AR R T 2 1 906,516 |HEIT 0.81 t

PL SM400A 6<t=25 ;

BYEI T 0.14 t
PL SS400 t=3.2 :

TAZIEE LN )R




il
W
>
%
T

TH4 | AFd - SASERFER ST (T TH

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR

BYEI T 0.17 t
FB $S400 90X 9 ;

BYEI T 0.07 t
L SS400 6X75X75 ;

BYEI T 0. 47 t
L SS400 6X65X65 ;

BYEI T 0.11 t
L SS400 6X50X50 ;

BYEI T 0.65 t
CH SS400 5X 100X 50 ;

BYEI T 0.16 t
PIPE STK400 42.7X2.3 ;

BYEI T 0.12 t
PIPE STK400 21.7X1.9 ;

BYEI T 0. 006 t
RB SS400 ¢ 22 ;

BYEI T 0.59 t
CHPL SS400 t=3.2 ;

Kbty b 288 HH.
SS400 M16X 45 (UN, 2-W) HDZT49 ;

Kby b 8 HH
SS400 M16X 40 (UN, 2-W) HDZT49 ;

Kbty b 256 HH.
SS400 M10X 35 (UN, 2-W) HDZT49 ;

Kbty b 352 HH.
SS400 M10X 30 (UN, 1-W, 1-TW) HDZT49 ;

UK WhFy b 64 HH
$S400 M10 FETR32CH! HDZT49 ;

U Wh-Fob 128 L
$S400 M10 FEURI5CH! HDZT49 ;

T AR R T 2 1 599, 059 | HfENT 0.35 t

PL SM400A 6<t=25 ;

BYEI T 0. 004 t
PL SM400A t=4.5 ;

-3 - E ta2@d Ui




il
W
>
%
T

TH4 | AFd - SASERFER ST (T TH

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR

BYEI T 0. 002 t
PL SM400A t=3.2 ;

BYEI T 0. 06 t
PL SS400 t=3.2 ;

BYEI T 0.11 t
FB $S400 90X 9 ;

BYEI T 0. 05 t
FB SS400 90X 6 ;

BYEI T 0. 004 t
FB $S400 50X 6 ;

BYEI T 0. 02 t
FB $S400 50X4.5 ;

BYEI T 0. 002 t
FB SS400 25X4.5 ;

BYEI T 0. 02 t
L SS400 6X75X75 ;

BYEI T 0.21 t
L SS400 6X65X65 ;

BRI T 0.1 t
L SS400 6X50X50 ;

BYEI T 0.31 t
H SS400 175X 175X 7.5%X 11 ;

BYEI T 0.04 t
CH SS400 6X 125X 65X8 ;

BYEI T 0.5 t
CH SS400 5X100X50X7.5 ;

BYEI T 0.07 t
PIPE STK400 42.7X2.3 ;

BYEI T 0. 06 t
PIPE STK400 21.7X1.9 ;

BYEI T 0.03 t
RB SS400 ¢ 22 ;

BYEI T 0. 002 t
RB SS400 ¢ 16 :

-4 - E ta2@d Ui




il
W
>
%
T

TH4 | AFd - SASERFER ST (T TH

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR

BYEI T 0. 002 t
RB SS400 ¢ 13 ;

BYEI T 0.45 t
CHPL SS400 t=3.2 ;

Kbty b 40 A
SS400 M16X 50 (UN, 2-W) HDZT49 ;

AND T 112 bl
SS400 M16X 45 (UN, 2-W) HDZT49 ;

Kbty b 16 A
SS400 M16X 40 (UN, 2-W) HDZT49 ;

AND T 112 bl
SS400 M10X 35 (UN, 2-W) HDZT49 ;

Kbty b 268 HH.
SS400 M10X 30 (UN, 1-W, 1-TW) HDZT49 ;

UK WhFy b 28 HH
$S400 M10 FETR32CH! HDZT49 ;

UK WhFy b 56 HH
$S400 M10 FETRI5CH! HDZT49 ;

8% A 100 VN
SS400 M16X 125 HDZT49 ;

Epy 8
SWRM8 5 ¢ X 36 ;

may 28 A
SS400 M4 X8 ;

Fvy7 nt" byat b 4 1
40X 3 X565 ;

Fvy7 mt" byat b 4 1
25X 3X60 ;

Pk E RUE L X 1 11,677 |S/EMNT 0. 004 t

PL SM400A 6<t=<25 ;

BYEI T 0. 004 t
PL SM400A t=6 ;

BYEI T 0. 004 t
PL SM400A t=4.5 ;

-5 - E ta2@d Ui




PR AR E

T
Psi

TH4 | AFd - SASERFER ST (T TH

TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! EN
BYEI T 0.01 t
PL SS400 t=6 ;
BYEI T 0. 02 t
PL SS400 t=4.5 ;
Kbty b 44 A
SS400 M12 X 35 (UN, 2-W) HDZT49 ;
Pk E RUE L X 1 14,982 | S/EIIT 0.05 t
PL SS400 t=6 ;
Kbty b 32 A
SS400 M12 X 40 (UN, 2-W) HDZT49 ;
8% A 32 VN
SS400 M12 X100 HDZT49 ;
s 2 1 14, 383,000 | K" A3k 6 18
(ALFB B
ARSI 1000kN ;
KA WK 6 1
(A2AFHEM)
T ARSI 1050kN ;
TG IFEAR 1 e
B FEA A4 200 X300X13 ;
THREET = 1 5,658 | AiiALER 69 m2
JFART TAL DI
TIRBIET £ 1 16, 441, 371 | RijALER 1,810 m2
MAVZAPS VAVE s
T 1,810 m2
(BH & T )
B V)T vy BEEREE 1]
T 1,810 m2
(3Aba-1)
ba-h (zf ¥R SR T8) aEEEL 18]
T 1,810 m2
IR FVRIIREREN TS BRI 1E]
T 720 m2

-6 - E ta2@d Ui




il
W
>
%
T

TH4 | AFd - SASERFER ST (T TH

THFX Sy - LHE - FER il # il 2 R
()
TR AR T BREERIER 10E]
ik 1,810 m2
Lo FRBNEEE ik YR BN 1]
& 1,810 m2
S o FRBNEEE L YR BN 1]
T T 96, 048 | FiTALEL 15 m2
RZANSVAVE S el
T 15 m2
(B3 £ T )
Y )P AV BREERE 1]
T 15 m2
(QAba-h)
UAba=h (2 ¥VEARER R T H) Mg 1]
T 15 m2
R RVRIIE R TR BREERIE 10
T T 508, 440 | AL 120 m2
RZANSVAVE S el
T 120 m2
(B3 £ T )
Y )N AV BRIERER 1]
THmEET 279, 642 | HIALER 66 m2
RZANSVAVE S el
T 66 m2
(B3 £ T )
Y )N Ay BREERER 1]
THREET 319, 176 | AALER 88 m2
RZANSVAVE S el
T 88 m2
(B3 £ T )
Y )N AV BRIERER 1]
T T 533,900 |Av¥ 3.7 t
HDZT77 ;
-1 EE2mE SN




il
W
>
%
I

TH4 | AFd - SASERFER ST (T TH

TEHX4y « Tfd - FER B Az W B & HH i il A R
Pk 1.3 t
HDZT63 ;
Pk 0.4 t
HDZT49 ;
TVEH 2 1 19,771,372 |BUEEESTESE 1 F2V
e T 2 1 7,292, 107
TG T = 1 86, 881, 444
TE g 2 1 14, 282, 777
(T RAEFAT) 2 1 101, 164, 221
HiAE B = 1 25, 104, 779
T 358 ik T = 1 2, 358, 980
e T = 1 2,358,980 |k 111.8 t
HFELERR T = 1 15, 878, 350
HiHH T = 1 937,761 | HikH 1 =
BRER T (JV—vBR3% =Y 1 13,224,476 | HiZEE% 1 2y
e
LR RS I 1 X
YT £ 1 881,400 | KHla A A& 6 1
(ALK EHD
K F7 1000kN ;
K™ WK E 6 &
(A2FBH D
K F7 1050kN ;

[
[
TH
H
)

WA TUNH TR )R




il
W
>
%
T

TH4 | AFd - SASERFER ST (T TH

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
Bk T = 1 834, 713 | AHEDE Wb 4,352 A
B3R EE T = 1 1, 224, 004
BGBEET 2 1 1,224,004 | i GEHFRE) 86 m2
T 24 m2
(BA L)
HRE 1)y~ A/ (2f8) BIERE 1F]
T 86 m2
(3Aba-1)
Wha=b ZPETR dvstIE SRR (18) BEEEH
I
T 86 m2
BRI VB EE CEIE Y /fE) B
[F¥ 10\
R 86 m2
SoRBAEREIA W BER 1E
k% 86 m2
SoRBERE WE  BERNL 1E
e p =/ = 1 1,303, 874
PRI T B 1 740,401 | PEAc > "
(EETHEK ¢ 200)
VPE
HEKE 4 m
(BT HEAK ¢ 40)
VPE
HEKE 10 m
(FHEFTHEAK ¢ 200)
VPE
a/))=NTU-E VR E 32 VN
(MEFTHEK ¢ 200)
RARE T = 1 560, 472 | FRAH 27 m
(TEB)

-9 - E ta2@d Ui




AN

%
T

TH4 | AFd - SASERFER ST (T TH

TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
R T = 1 3,001 | HEEEAR 1 e
ARG R E T = 1 3, 830, 670
Ay M Y 1 2,813,436 |28 E%H 1 =
()
A A AR ATV N A
FEGLRhHE T 2 1 1,017,234 |#RIER;# 1 =
(&)
T = 1 508, 901
TEHERKT Y 1 18,701 | Bkt 1 =
22X 1,524 X6, 096 (mm) &« #{E ;
B EHT = 1 490, 200 | AT EE i B 1 F2V
BT E A E 1 2V
(&)
Fa gL T = 1 271, 097
BH T 7 1 271, 097
F&H AR T Y 1 192,618 |av/)-h 2 m3
24-12-25(20) (FifF) —MeaB A 2v/7) - MR R
M .
E491] 0.06 t
SD345 D13 ;
E491] 0.08 t
SD345 D16~25 ;
Gip 1 =
— R
F&H AR T Y 1 78,479 |av))-} 0.6 m3
24-12-25(20) (FifF) —MeaBA 27) - MR R
M .
E491] 0.04 t
SD345 D13 ;
- 10 - E+A8m SN T S




B
T
iy
i
I

T4 | HEE - EASEKEREEST (Fofp) TF
TEHX4y « Tfd - FER B Az £ & #A iR
kA 0.01 t
SD345 D16~25 ;
s ! A
— R
H Hi 0.07 m2
TR AR B ik =20 ;
[ERAE Xy = 25, 375, 876
HiE R = 12, 196, 576
BISTIGE: = 5,043, 576
TE R = 4,655,776 | R ERASAB ) RN 6 2 1 =
IER M TR 1 =
HeffrE sy = 58,800 | MEHERYFAT ~IERE 1 =
BGRESGESE (5 L) = 329, 000
B (FEHL) = 7,153, 000
T = 37, 572, 452
Bl gy = 17, 704, 000
(B4 I Am) = 55, 276, 452
T =5l = 156, 440, 673
— R A = 25, 349, 327
TS = 181, 790, 000

TAZIEE LN )R




